Dilsen-Stokkem *** BEAU BRIDGE CLUB *** BBC-COMPETITIE 2017 *** 4 giften per ronde *** NZ OW| gift 1 NZ OW gift 2 NZ ow gift 3 NZ ow gift 4 NZ ow
1 Hubrechts Stefan-Op "t Eijnde Thomas 2 Joosten Henri-Smith Stuart 1 2 6 0 50 W2H-1 6 0 50 07S-1 0 6 -50 ZIN-1 6 0 200 w2S-2
3 Kerkhoff Ans-Vos 4 Male Charley-Opdenacker Jef Bye
5 Paredis Rina-Linssen Els 6 Paes Pascale-Kurent Annie
3 9 4 2 -50 Ni1s-1 4 2 -140 03s= 6 0 200 01Ss-2 2 4 -200 N2K-2
7 Schoups Guy-Lang Yvonne 8 Simons Josee-Joosten Rik
4 6 2 4 -120 O1N+1 1 5 -1010 O6S+1 2 4 90 Z2K= 4 2 -80 wis=
9 Dewael Albert-Hubrechts Arthur 10 Bye
5 7 0 6 -140 W3H= 1 5 -1010 wesS+1 4 2 100 OIN-1 0 6 -500 N3K!1
\ \
NZ OW| gift 5 NZ OW gift 6 NZ Ow gift 7 NZ ow gift 8 NZ Ow NZ OW| gift 9 NZ OwW gift 10 NZ oW gift 11 NZ oW gift 12 NZ oW
3 4 4 2 -100 N3H-1 2 4 420 N4S= 1 5 -100 N3N-1 4 2 -140 03s= 5 6 5 1 420 N4H= 6 0 -140 03S= 6 0 90 NIN= 3 3 -450 04H+1
2 9 4 2 -100 NIN-1 0 6 200 N3S+2 1 5 -100 N3N-1 4 2 -140 03s= 8 1 5 1 420 N4H= 4 2 -200 N3K-2 3 3 -50 NIN-1 6 0 300 O6H!I-
Bye 2 7 1 5 -50 N5H-1 0 6 -1100 N4KI- 3 3 -50 NIN-1 3 3 -450 04H+1
1 7 0 6 -300 zZ4K-3 4 2 450 N4Ss+1 4 2 120 N2N= 4 2 -140 03s= Bye
8 6 4 2 -100 Z2K-1 6 0 480 N4S+2 6 0 150 N2N+1 0 6 -200 Z4H—ﬂ 9 4 1 5 -50 N4H—ﬁ 2 4 -650 O4S+ﬁ 0 6 -100 NZR—% 0 6 -500 ZSK!W
\ \ \
NZ Ow| gift 13 NZ OW gift 14 NZ oW gift 15 NZ oW gift 16 NZ oW NZ Ow| gift 17 NZ OW gift 18 NZ oW gift 19 NZ oW gift 20 NZ oW
7 8 4 2 -110 W2R+1 3 3 -450 W4H+1 4 2 180 Z2N+2 0 6 -170 02S+2 Bye
6 3 2 4 -130 W3R+1 3 3 -450 O4H+1 6 0 620 N4S= 4 2 200 ozs-ﬁ 5 4 3 3 5002s5-1 0 6 -500 N4H!12 4 2 400 N3N= 3 3 300 WeN-3
5 9 6 0 -90 W2R= 6 0 -400 W3N= 0 6 -200 Z3K-2 2 4 -50 ZZH—W 6 1 3 3 50 03K-1 2 4 -200 N4H!11 4 2 400 N3N= 6 0 400 O7N-4
4 2 0 6 -600 O3N= O 6 -480 W4H+2 2 4 -100 N4S-1 6 O 500 04S!-2 7 3 6 0 150 ZIN+2 6 O 630 N3N+1 4 2 400 N3N= 3 3 300 WeN-3
Bye 8 2 0O 6 -50 ZSR—ﬁ 4 2 600 Z3N= 0 6 -50 N3N—ﬁ 0 6 200 W5N—%
NZ OW| gift 21 NZ OW gift 22 NZ oW gift 23 NZ oW gift 24 NZ OW NZ Ow| gift 25 NZ OW gift 26 NZ OW gift 27 NZ oW gift 28 NZ oW
Bye Bye
3 8 2 4 -150 O1IN+2 5 1 140 N2H+1 6 0 100 W4H-1 3 3 -100 Z2R-2 5 1 4 2 -110 w2s= 2 4 -620 04H= 2 4 50 03s-1 1 5 -200 N4S!-
9 6 6 0 -90 WIN= 2 4 90 Z2K= 0 6 -1400 ZAN!-niet gespeeld 7 6 1 5 -140 W3S= 6 0 100 OSN—W 4 2 90 Z2R= 1 5 -200 N4S!-
4 1 0 6 -180 WIN+3 5 1 140 N2H+1 2 4 -400 Z4R-4 5,7 0,3 50 W2H-1 8 9 6 0 200 W3s-2 4 2 -120 01N+ﬁ 6 0 150 N1N+ﬁ 4 2 620 N4s=
5 2 4 2 -130 O3R+1 0 6 -50 N4H-1 4 2 -140 W3H=| 0,3 5,7 -120 O2N= 3 2 1 5 -140 W2S+1 0 6 -660 O3N+2 0 6 -50 Z2R-1 6 0 790 N4S!=




